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M.A. Economics (MAEC-12/16/17)

First Year Examination, 2019 (June)
Time : 3 Hours] Max. Marks : 80

Note : This paper is of Eighty (80) marks divided into three
(03) sections A, B and C. Attempt the questions
contained in these sections according to the detailed
instructions given therein.
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SECTION-A/ ©@US-h )
(Long Answer Type Questions)/( ETef I AT U9

Note : Section 'A' contains four (04) long answer type
questions of Nineteen (19) marks each. Learners are
required to answer any two (02) questions only.

(2x19=38)
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1. Explain with the help of suitable example the Macro static,
comparative static and dynamic macroeconomic models.

Tufte wdfeh, qomras R 3R Tomms gfte anfds
ST 1 IS i HeEFal § FHET|

2. Define national income. Discuss the Expenditure method of
nation income measurement.

L 3™ & URaW W U ™ # AT i
=g fafy =1 fag=mr sifsm

3.  What do you mean by Fiscal Policy? Discuss the Fiscal
Policy in reference of developing countries.

TSR Afd 9 o9 F wue §? foemefia 29 #
el o uemeg Fifa wt faemm wifsw

4. Critically explain the monetary theory of business cycle.

MR % & Oifgd fIg S STa=Acas SRS HIfu)
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SECTION-B/( ©@Us-@)
(Short Answer Type Questions)/( g I A T9T)

Note : Section 'B' contains eight (08) short answer type
questions of eight (08) marks each. Learners are
required to answer any four (04) questions only.

(4%x8=32)

Me: @re ‘@ H A (08) o I oA T A
™ ¥, 7Ok T & fau e (08) i frwifa
g1 foenfefal =l 9 ¥ wow WR (04) WA &
S T

1. Explain the importance and limitations of macroeconomics?

qafte Sdere & "ee S diwsl % W) § wdEy

2. Explain the Types of Inflation.

TR THIfd & YHR I HHSEU

3.  Whatis foreign trade multiplier?

foreft =R U W @2
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What are the difficulties in the measurement of national

income?

Ecie e e e e B e B~ 0 = ot s
2?2

Explain the Classical theory of Interest.

N & yfafsd fagma &1 =ren wifsul

Explain the Life cycle hypothesis.

SfieM =k Ufehed T hi IHEIEU|

Discuss the Monetary Policy in reference of developing

countries.

foerrasfiar <o & wed o Oifgew Hifg =1 faa=a FifHu

Write the meaning and characteristic of Trade cycle.

=R 9% 1 1 IR favae fafeu)
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SECTION-C/( @Ug-T)
(Objective Type Questions)/( &S TIT)

Note : Section 'C' contains ten (10) objective type questions
of one (01) mark each. All the questions of this section
are compulsory. (10x1=10)

M . @ue ‘M F ='W (10) qATS TH A W T,
Y% T & faw ww (01) e fauifa @1 =W
wue & gt e st )

Choose the correct Answer :

T IW B T RO ¢

1. Social Accounting Method was propounded by
(A) Richard Stone
(B) Marshall
(C) Fisher
(D) Pigou.
wmfsrer o fafy &1 ufques fean en
(37) =g =m
() ARF
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(%) dip
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2.  Macro Economics distinguishes between the real economy

and

(A) Virtual Economy
(B) Normative Economy
(C) Monetary Economy

(D) Underground Economy

Afe srefore ardfas sfdfereen 3R fRas 99 od
L T

(1) STATE] SreieerEe
(9) SARRIHE  Aefaeen
(W) Hifseh sreferaeen
(3) Yoo ATl

3. "Supply creates its own demand." Who said that?
(A) Ricardo
(B) J.B. Say
(C) Malthus

(D) Adam Smith.
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4. Foreign trade multiplier is concerned with
(A) Open economy
(B) Closed economy
(C) Both of the above

(D) None.

fadslt =R U w1 Ry ©
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S.

Relative income hypothesis was propounded by
(A) Simon Kuznets

(B) Milton Friedman

(C) James Dusenberry

(D) Ando and Modigliani.

qfa o uReeT % gfauesE
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(F) faeed wiedq

(¥) S SFET
(%) wuSl qen HifEfeEm

According to the Loanable Fund Theory, the rate of interest

is a function of

(A) Investment

(B) Quantity of Money
(C) Desire to hold money

(D) All the above.
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7. According to Keynesians, creeping inflation will help in
(A) Minimizing unemployment
(B) Maximizing real output
(C) None of (A) or (B) above
(D) Both (A) and (B).
HIFAdl & SER, U g EEWIa fReH wWerew
B2
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8. Slope of curve LM depends on which of following ?
(A) Interest elasticity of investment
(B) Interest elasticity of income
(C) Interest elasticity of Demand for Money

(D) None of the above.

LM 9% &1 o fefotad § 8 ffg | fask = 22
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9. Whose model of the following economists makes use of
the stock adjustment principle to explain business
cycles?

(A) Kaldor
(B) Hicks
(C) Hensen

(D) Samuelson.
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10. Interaction between the multiplier and accelerator principle
is related with

(A) Hensen

(B) Hicks

(C) Samuelson

(D) Kaldor.
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